@ Ho0mE] M T~F = TRPHEB Bk AR

B 0 : 8H4H-5H 7050 —K+/3—72 36 h—/ L Apn—r 7L —
O — R RERZEEEN VN —0TT SNHEH 1434
A i i) +,/—  Total out in 1R  out in 2R S
1 HFIEE K—B8 Sisky i -4 68 34 34 68
2 &R b it -2 70 34 36 70
pAN = I =g KiiZ -2 70 35 35 70
4 Bkl BEZSr RARKR -1 71 35 36 71
b HER Fe)—ERE—YAF 1 71 34 37 11

6 BE)Il HOME IIURF L EFy 0 72 35 37 72

MRE EAH e +0 72 35 37 72
e = 1= +0 72 36 36 72
K iH 3P +0 72 35 37 72
HHE HEE +0 72 38 34 72
Pl BRI +0 72 35 37 72
A M S +0 72 35 37 72
WA 0 JE oA L +0 72 36 36 72
14 B = F—3 ¥R +1 73 37 36 73
VAL IN [RUREN +1 73 40 33 73
Bookiz SyvarL— +1 73 34 39 73
I & TR +1 73 34 39 73
S R - JEP AL +1 73 36 37 73
AT AR WA [ +1 73 37 36 73
20 HHIRF A KIS +2 74 40 34 74
A R e Il B 1L +2 74 35 39 74
R R wEL A7 AR +2 74 38 36 74
i SL—Bs dedul +2 74 39 35 T4
R K VAR R +2 74 38 36 74
25 @ ZREn F =R A +3 75 39 36 75
Fri 2R DAE R +3 75 40 35 175
% K o] #f A +3 75 39 36 75
INEEHBE MU FEZEHS6 +3 75 38 37 75
FHE) M ERERIE +3 75 38 37 75
H RS <FEhEH R +3 75 35 40 75
H WA =L +3 75 37 38 75
¥ F #H] Iviar L — +3 75 39 36 75
Kl B BRI +3 75 37 38 75
Jiln %= TVF AR +3 75 39 36 75
SN AR Koy +3 75 40 35 75
HAT EA AR +3 75 35 40 75
MR e ] [ +3 75 38 37 75
38 LIl KEXES A L +4 76 38 38 76
A5 FEk e Il B 1L +4 76 39 37 76
A KE Koy +4 76 38 38 76
fEE E— BV A 7Y AR +4 76 39 37 76
TR A% 138 +4 76 38 38 76
MRHE i, e +4 76 38 38 76
i K4 Koy +4 76 35 41 76
L TEAE B —H AP +4 76 37 39 76
W W Koy +4 76 38 38 76
Thk mpba eE +4 76 38 38 76
WL @A JurnE +4 76 40 36 76
iy R eI +4 76 40 36 76
50 FEH KM 2Y—rF R =k +5 77 38 39 77
i JEH F=V—/NETFE +5 77 39 38 77
HA EK PNLES +5 77 36 41 77
I AR Ty JA +5 77 39 38 77
L ¥y HoFHL—7 +5 77 39 38 77
Eor &3t L A7 AR +5 77 37 40 77
N 5E Wy B +5 77 38 39 77

1 _= FHE - NI TER



@ Ho0mE] M T~F = TRPHEB Bk AR

BAf 0 : 8H4H-5H 7050 —K+/3—72 36 h—/ L Apn—r 7L —
O — R RERZEEEN VN —0TT SNHEH 1434
A i i) +,/—  Total out in 1R  out in 2R S
JENE % & lif] +5 77 38 39 77
BAS EsEg <Fbedgk +5 77 39 38 77
i HH J¥5 LB T +5 77 38 39 77
7 B A =] +5 77 40 37 77
Jud=RE Iyiar A L— +5 77 39 38 77
o B VBT +5 77 42 35 77
HE BT I\ B +5 77 40 37 77
64 T 45 G +6 78 37 41 78
HFE T REARZ2 +6 78 40 38 78
R fTAhar Bk +6 78 39 39 178
47 FH s +6 78 41 37 78
=% Bl JV—=r TR —h +6 78 44 34 78
BAR K WAL +6 78 41 37 78
et SyvarL— +6 78 39 39 78
A e VBT v +6 78 39 39 78
(il BAAE & lif] +6 78 38 40 78
N JEP AL +6 78 37 41 78
PEIS ol P oA=L RV +6 78 39 39 178
(T YR KSENF +6 78 41 37 78
‘HlE B w7 A +6 78 41 37 78
77 EHE 5L FoA¥ L +7 79 37 42 79
N RER & lif] +7 79 39 40 79
AN PR A +7 79 38 41 79
M 3R P +7 79 40 39 79
KE Fook R SR +7 79 37 42 79
Gk =— KIS +7 79 38 41 79
SEHOSRSIES HisEs +7 79 39 40 79
ml ] Iy gL — +7 79 42 37 79
e N2 BB +7 79 38 41 79
PPN R 1045 +7 79 42 37 79 DLl PEEEa
87 LA WE Yo7 +8 80 42 38 80
B o~ NE +8 80 42 38 80
WBAT fi REARZ2 +8 80 41 39 80
fhE fEA SFAL +8 80 42 38 80
ZHH AEF] v A7 AR +8 80 41 39 80
KK Py = R +8 80 40 40 80
Y EH— SyvarL— +8 80 40 40 80
AH R ~_R=rvag +8 80 37 43 80
95 AF Hith Ry T +9 81 38 43 81
‘B CEL EEaAY +9 81 40 41 81
MR KRS AL —Y AR +9 81 40 41 81
g W e ] +9 81 42 39 81
TN KE MU EZEHS6 +9 81 41 40 81
LK HEVE HH +9 81 37 44 81
K il bk +9 81 41 40 81
M IS 78 H A +9 81 40 41 81
we =H— =iy +9 81 41 40 81
Kl HAR J¥5 LB T +9 81 38 43 81
105 #1116 T2 +10 82 40 42 82
L IER KFHE +10 82 38 44 82
AR F— B —H AP +10 82 42 40 82
e B HEEL —HF AR +10 82 43 39 82
A H— Koy ke +10 82 40 42 82
[ETES ] HEky +10 82 40 42 82
Jilp £t B +10 82 40 42 82
AH Pt R E R +10 82 37 45 82

2 = FHE - NI TER



@ Ho0mE] M T~F = TRPHEB Bk AR

B H: 8H4H4H-5H 7050 —K+/3—72 36 h—/ L Apn—r 7L —

O — R RERZEEEN VN —0TT SNHEH 1434

A i i) +,/—  Total out in 1R  out in 2R S

113 ¥l SOR E| il +11 83 41 42 83
2H L EbA—F¥—F  +11 83 44 39 83
BAEF Ay JEP AL +11 83 40 43 83
(LSRN IPS PrA—r R +11 83 45 38 83

117 AR FE HH +12 84 46 38 84
e B RPN +12 84 45 39 84
il s R +12 84 44 40 84

120 &1 %% FH s +13 85 41 44 85
g VAR Wy B +13 85 41 44 85

122 HEUE Bk ~JLE—F + 14 86 42 44 86
KAE g BT ¥ +14 86 45 41 86
i i VT YETTA +14 86 41 45 86
kil & BRI + 14 86 46 40 86
iR FHR e ] +14 86 42 44 86

127 bR % Ei Y +17 89 44 45 89
FY R N + 17 89 43 46 89
R 1= FV—/NEF +17 89 45 44 89

130 Kk [ KEENF +18 90 44 46 90

- BF K— FH L EE K%

- R KFE JE B K

- il R JEI B e K%

- {hEF Hhid Yo7 K

- R AHE P rf—=2 Rl IR

- HA KW PNL £ K%

- A & DAERER K%

- MR & Koy =—r)L R

- N Tr=y A K

- HiH ¥H 54 —F¥—F K

- VI IATVRa—Ak e

- R EAR TV —r e e

- K# JU—e IR

3=y FHE - NI TER



